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% SINDHI HIGH SCHOOL BENGALURU
LM, HALF YEARLY EXAMINATION 2022-23
~ee Qubject: English

%

Class: IV ' Date: 23/ 09/ 2022
No.of sides printed: 6 Max.Marks: 80
Reading time: 15 min Writing Time: 2hrs 30 min

General Instructions:

e This paper contains three sections:

.. o Section A- Reading- 20 marks . |
! o Section B- Writing & Grammar- 30 marks ‘
o Section C- Literature - 30 marks

e The intended marks for each question are given in brackets ® Attempt all
~ questions

1. Read the following passage and answer the questions that follow:

1. Once upon a time there lived Kambugriva (shell-neck), the tortoise, in a pond. He became
friends with two geese. Their names were Sankata(small) and Vikata (large). The three friends
were very fond of one another. Sankata and Vikata came to visit Kambugriva every day. They
used to chat about lots of things and tell stories to one another. Snakata and Vikata used to return
' to their nests in the evening after sunset.

2. One day during summer, they noticed that the pond was drying up. There was very little water |
in the pond since there had been no rainfall that year. Sankata and Vikata thought, ‘It will be very |
difficult for Kambugriva to live in a pond without water.’ Concerned about their friend's
situation, they said to him, 'Alas, friend!How will you live in this pond without water? We feel

| very sorry for you. What will you do?' In answer to their question the tortoise sadly answered, 'li
| is impossible for me to live in a pond without water. There is no other pond nearby. What will1
do?' 'Don't worry. We have seen a pond, not too far from here. We can take you there. We'll fetch
a thick stick. While we grasp the stick with our beaks you can hold it in your mouth and we can
carry you to the other pond. But remember, whatever happens you must not talk,’ his friends told
him, |
3. As planned, the three friends started their flight to the other pond. Some boys inthe !
playground watched the three friends flying. Seeing this unusual sight they shouted, "We'll eat the |
tortoise when it falls.' Hearing this, Kambugriva became very annoyed and opened his mouth to
reply, "You'll not get me." As soon as he opened his mouth to reply, he fell from such a great

height that he died.

i
Section A: Reading i
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['A. Choose the correct option:
1. Kambugriva was a:
a. Tortoise
b. Turtle
c¢. Goose
d. Boy
2. Sankata means:
a. Large
b. Small
c¢. Shell neck
d. Pond

13, The two geese would return to their in the evening.

7 b, Lake
c. Nest
d. Hill

4. Which of the following words in the passage means the same as: talk
a. Nearby
b. Grasp
c. Rainfall
d. Chat

5. The two geese decided to carry Kambugriva witha .
a. Rope
b. Net
¢. Stick

| d. Thread

6. Kambugriva lived in a

a. Lake
b. Pond
c. River
d. Stream

7. Which of the given words is the opposite of- ‘enemies’?
a. Children
b. Friends
c. Grasp
d. Sight

8. Kambugriva was annoyed because :
a. His friends made fun of him
b. The stick was slippery

| ¢. The boys made fun of him

| d. They could not find any other pond.

a. Pond *

(1x10 = 10)
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”The boys thought that the flying tortoise was:

a. Tragic
b. Ordinary
¢. Unusual
d. Sad

10. The tortoise died because of his
a. Happiness
b. Friendship
c. Sadness
d. Foolishness

I1. Read the following passage and answer the questions that follow:

1. Bees are insects, Bees are special insects because they can fly! They can move through the air
like an aeroplane. Bees can fly because they have wings. They use their wings to fly. Bees can
also fly slow. They can fly up and they can fly down. They need to fly to get to the flowers!

2. Bees can have three colours. They can be yellow, red and orange. All bees are black in some
wslaces.

3. Bees have three main parts. They have a head. They have a body. And they have a stinger.
Bees use the stinger to defend themselves against enemies. They also have six legs.They use
their legs to stand and climb. They also use their legs to eat and collect pollen.

4. Bees live in many places. Bees can be found in Africa, Asia, Europe, North America, South
America. The only continent that bees do not live on is Antarctica! It's too cold! Most of the
time, bees are nice to humans. If you do not bother them, they do not bother you.

II A. Answer the following questions based on the above passage. (1x5=5)
1. What are bees?
2. Name any two places where bees live.

3. How many legs do bees have?
| 4. Why do bees need to fly?
JW 5. Why don't bees live in Antarctica?

11 B. Complete the following statements: (1x5=5)
|. Bees have main parts
2. All Bees are __ in some places.

3. Bees use the stinger to
4. Bees are special insects because
5. If you do not bother them,
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Section B- Writing and Grammar
Il A. Write a paragraph in about 100-120 words on any one of the following topics:  (6)

A. My Birthday Party
B. How 1 spent an interesting Weekend

111 B. Study the pictures given below. Write a short story based on what the pictures
suggest to you. You may take ideas from the given pictures and/or add details to make the

story more interesting. ‘ACCIDENT IN THE CANTEEN 4 (6)
Jein noodles lunch eli er
embarrasesed fall down grateful h‘e:ppp g
111 C. Complete the given story with the help of the given outline. Give a suitable title to
the story. (6)
(refused, goddess, silver, river, golden, woodcutter)
The Honest Woodcutter ‘
A poor woodcutter 's axe slipped and fell into a . The river heard him cry
and wanted to help him. She dived into the river and brought a axe for him. The
honest did not take the axe. The goddess again went down into the river and
brought up a axe,the honest woodcutter to accept the silver axe too. The

goddess was very pleased and gave him his own axe as well as the gold and silver axes.




IV A. Fill in the blanks with suitable pronouns from those given in brackets: (1x4=4)
[We, our, he, I]

Good neighbours are a blessing. They are more than a relative to us. relatives, living far
off, may not be in a position to help us in our troubles and sorrows, but good neighbours can. _
have such a helpful neighbour. ___ is a kind-hearted man. are not just neighbours, but good
friends too.

IV B. Fill in the blanks with a, an or the wherever nécessary. n 4)
Our parents bought __ new house last month. ___ house has four bedrooms, a huge garden in the
front and ___ pool. But my favourite part of the house is my own room. It has a beautiful

balcony with amazing view.
)

<~

IV C. Complete the following passage by choosing appropriate adjectives from those given
in brackets. (4)

Once upon a time in a (faraway/further) land, there lived a (sweet/strange) little
princess. She lived yith her stepmother and her (two/one) stepsisters. The stepsisters were
jealous of her because she was (beautiful/more beautiful) than them.

Section C- Literature
V A. Read the given extract and answer the questions that follow: (1x3=3)

A stage below, in gay accord,

White butterflies danced in the wing,
And still the singing Skylark soared
And silent sank, and soared to sing.

1. Name the poem and the poet from which the above lines are
extracted.

2. What does the poet mean by 'stage below' in the above lines?

3. What were the butterflies doing?




V B. Answer in a sentence or two: (2x5=10)
1. Why did Mary decide to take up boxing?
2. What important things did Robinson Crusoe write in his journal?
3. What did the man-cub do when Father Wolf placed him between the
cubs?
4. Why was Rama convinced with Hanumana?

5. Who among the three friends had the most knowledge about the creek and crocodiles?
Why?

V C. Answer in three or four sentences: (3x3=9)

1. Learning about the seasons was important for Robinson Crusoe. Why?
, | 2. What was Chitra's technique for locating crocodiles?

3. Why did the poetess pause while taking a walk in the cornfield? Who else was there in the
cornfield apart from her?

V D. Answer in a paragraph. (4x2=8) "

1. Write about the hardships that Mary faced as a child and how she overcame
them. _

2 Write the character sketch of any one of the following:
A. Hanumana .
B. Tabaqui




SINDHI HIGH SCHOOL, BANGALORE
HALF YEARLY EXAMINATION (2022-23)
Subject - L2 Kannada

Class: IV Max.Marks: 80
Date: 2b/09/2022 Reading Time: 8:00 to 8:15 am
Number of printed sides: 9 Writing Time: 8:15 to 10:45 am
JRWIINeD:

BYFOD @ DI, 2 DOW DVW Wonne's), w¥neottH3 .
B3, BYFoD A, 2.8, 12 dow; I)F, e o3 3.

%380 &3, e’ ZPWINed IDAIPN LWDBROR) 3 D
FF, D3, R FB,NY FoB ;0D 3,3 W3AND .

e e s ®

Wort-A o™ &D3), ndTo | 10 @oTnYH

TG

93,00 F 0FFTED 16 203N

WX €303, )8, BB;NY 90D | 4 evoBNY)
%03 NXzen 303 I, 10 208w
’ 23on B

WTTBNR TP e 12 @03neH

BN a3 ;oD 28 e20%NYN
| 283, 80 0T

dION-A

() Fe80O0x M08, L.DBe0W) wd Bwn Fe83,05a3
3,191 030 223D, 1x5=5

2O BT 3etY AOTS), I, BOVTR, SR "eITD ST,
CR&EB03TC [ DO 2023 BBIYTIN TN oD, JRCY 2390) 2,9H
220, BRANI) .3eY ANDIOT BT 2BIEHE) BER ? 0T 2308505301

1



eaz3¢ TRDODE). 2,00H T BRI, ST WRIHAT, It
SR D BRRISDLOID 700D FELD. I, AL, DIBS, IO
WM RITOI eITITY,N 30270 ATV, DRANSTLN Q0T TP,
3008 O3B R 2303 RYR FIE33B). 3eEY STt NTOD BT, NS
33 BROR BAAMB.ENCS D03 ItY WXTTICAH AT WHTIATR,
QETR, BT DOT TXY 2.BBACONID.

R, neD
1) T oD 3CY 2T, BRLANID.
1) SDBRYR  2) tRIBEYR  3) TEBRYR 4 RSRTEVH
2) €300 TR, ..
1) BAREO3TY  2) Mee303Ty  3) IR T0ITY  4) BeSOIT -

3) BBy B0, DITE), OIS 20033 TW0S.
1) 0Me® 2) T 3) TN 4) 92593
4) SEHA,C FCB0I0D AT LTAITR BB
1) Boe 2) SRR 3) e 4) OR
5) Bsote SFeaas THEBAH _ sHeed B BeoH BN,
1) 33, 2) OIS 3) BeE3LCD 4) 330

e3) 08,033 nEsyieonmadd, LWdTR0R) W3 B¢ 3eé3,01:3

3,NPR 3.0 W3AMD. 1x5=5
P IR T, NY 1904 9BRLDT® 200L) 0™ BT~
RPN FTIANONE). ToCWe TyARE ToadIOD TIONT  edrimeN
BOABD. 2OBRTT BREEW shrvesenwefest 30w SDTLOBT). JoAOD
3BFONGD). %S PIONE), WFWT. ITWesRECTNT, N R £303TRONT
ZZR BRINE D). 03BN WTwIR W [BRITIDINT  BRTWEN
BT ,. RFODTRD, FFen DSACD), 302D BOOINIYE, nom
SDODE), FoEd B2 TR OB, ST BOSAIATIEETINL 03500
PR 2NBAE),. BeSB IBIE &WHIoeN0F0oe e8NS 3.



1) €30 WHBLR.O® TR, N u&%c})‘z

1) 1904 2)1908 3} 1910 4) 1903
2) TR, 0N TI3IT _____ O SN B0.
1) 008 2) BGod 3) ®e3ed 4) HTONTD
3) 02,0030 S0, Gredhd eH AOTTn.
1O 2) ToakD 3) norw 4)TyR
4) 396 WBEH,0* Tod, 9530 FoAN0H esTFOHE),_ aHIAHE),
RBSTO.
1)e350a33 2) &%, 3) @30 4) 0830
5) 9530 W BRLES STBRITIIN BRBED___ [0,
1) 3o 2)233, 3) & 4) 2083,
€93 0NF VTV ED

. BYAS RIFNOR oo, 3TN, BerRwIN IV
en3 03w, 3D W3AND 1X16=16

1) 2P - BEE ReIOVOGES B

1) VLD, 2) DA 3) 2320 4) 330683
2) DNTRRET0 PR
1) 8ch 9) DT Q) VN, %) aDRT
3)  F0T - VI JTE, VW _____
1) E9TOINTLR 2) TR 3)IT/T0WT  4) DI
4) FRIT WOLCADN T3, &I, SO, B8 2TZEA.DE 3O3R
1) 30T 2) WTORITI 3) WOk 4) &SI,

5) RIBEB 33, 35)TB IeD S BRIN Toe3r BT, B8 0T3S
(SINFAIINOINVE
1) R3S 2) 33 3) Zoe3 4) BRI
6) 337 - JBIS AL DoNTRIJ______
1) 3g30HTH 2) dFTTD 3) dges  4) dyTOR

3



&) RPN, B8 53033833 90330 !

7) SHBSI 833 R GEOD
3) R@E 4) RIS

1) RBD 2) 2,833
REE VOO T AN

| 2) BB-RT
4) 300 -T

8) 'e3T3) '
1) VOI- 3N
3) CT- 383 €373

9) ' A+ o0& - BRTA TBTIN:
2) HVROED  3) £I0ED
3E), T SN SOODIZ 33 BNeIVTs

FATATSN SN OIAN]

1) HI0ED
3 B3 BRTBVVD:

) 10) 23903 TX3
‘ 1) SN 2) 25003 3) BOONIB 4) 93T
11) ‘20R BB NG, COR: P
1) &N 2) 2N 3) BRON 4) 2,01
S TRTIOR TNODD RTI:

12) TR B
1) B LFOU 2) T 2T

T/ TSI, 203CROOT LT
& TI0TEBE BIERT
1) DT 2) TSI,
14) SBLOTy 3,03 LTIT &)

3) 3e3 WU 4) 230D 2FOUD

13) 3R.3.
3) 203RRDOT 4)e373233.03
o &0 B DL RN SISALN

e3eDT WD
1) €96, DTV
3) e33,00¢ RPWBT
15) BLR TE30S ST NP, ROOT 0T
1) s306e3 TIBIN BRI B3RO0
2)3R.03 =S oINS BRI
3) BORIZES eSS TROD TOBINL
4) BN NS 23RBS TROD

4

2) TREIE )TOED
4) BDLBED



16) G300 BRONBATS, TOR SBITAT. &4 ST, BeDERT.
1) B33 2) BRONB AT, 3)TOR 4)5350C3230
H.2YAS &3P T, ev30necd, 2o0ents oIHNFE,

ﬁb:o:bad 03 B3R, eSO 2BAND (1X4=4)
N BIRY BRFODS TOTBY. -
1) ToWINY 2) Redn % 3) ecdori 4) SeCEN®
2) sHE,Y FORTR, SROFLIOD 5328, BRNSTI. -
1) eDOZN 2)dgTOD 3) @G A)ODT 33 S
3) OB 30T IO, 2RI T

1) BRI 2) ATy 3) BRI P A4)ende3ddy
4) £90T3T3 WOTWTS nPT .

1) RYOWT 2) TINY 3) NANY HROGTR
IV.(e9)8¥ 1 B0&3,05e3 RBEOR ‘VESBOD’ AT VAT 4, DBROT
RB,RR 03D, (1X5=5)

Sor TH3dy, FOT BEE RFORTH. BTOLO esm8, eordTIBTIEH 2WwOTK
eSNE ). DT Ry’ 25790 SBRGRITY, TSN BREMHBOTT 93301
SOOI MIR . LT3 o3 BEETHES TODCRE), 2,OT 233, TOC). &3 SRR,
2,003 303Y 0TI, SO¥ DT T, 33,503 Bon 03y, HTOT
350230 ROBRLR 20T 35500 sNGVsB/, TS SN BB O PO
20BT, VAT, 7 e9) O3 WD &3 ANTD, SORIT, 922, O3020,00
RET0) aHTE sNT 2He0II, 23 RCTOR" DOTD TLLTIT 93T, BON FORT*
30328, DL 2303 S5323¢8" OTWT. TON 0 BI LN TYTOLATI:
DT SOY B0, FO5LT CoBODEN 235507 QOIZ

1) TR, WwOTD aNTedI), .
Neegcd 2 RXOE  3)BTRIS  4) DT



2) Con NI, DT W, TS .

NIPNYY  2)RA L30Ty 3) ALADTY  4)F0oWOPNRS)
3)"®ITWOT) eNTLFE &NT T3, DOTIWT_____ .

1) e, 2) 3013 3) 3N 4) ROTOTIEDH
4) aae.fﬁ BN LRDODE), wOTD 23T, 93,

1) ¥3 2) 3083 3) /D 4) T
5) BON a3, DT JoS3K DJ___ Raood e00rdI0,

BRI T3.T0. .

1) Ry e* 2) R, 3) T 4) 50

(e3) IR FRBHT TBBWAR B ZToID' B3, WDBPCL
BB, 191 w3 DA :- 1X5=5

ByT3530 WO
Jo30R 2w
T,Y B, 3DORBN
: B, SRCBTI
DT, e,
NT0E30T)D BWTIB3
202,83 2300E).
FoBESEF 38,0 N
€363 DT 5H3R2, 5

230T3) IR

N

(MARNADIA]S)

FTEE3 FCOMD Q3,290,363



3IAI 80T

R0 B,

83,8353) 3830 SecBEh
TIPTC QT3
’ 33,0358 B
BRFANIDEEY) OBOTI
&)Z, nieh
1) 35483500 o3t Odves3 IoRBR WORT By?
1)3e0), 2) &ed 3) 3¢3 ‘4) B,
2) 83,T350> 03300 2302033, BIRISTIT?
1) 3gw3 2) DT 3) Mdone 4) FPRFT
3) 23,33:07% 23T, 28,330, /T
1) eFowedeéss 2) B, 3) B3, 4) T30

4) DV, 30T, everers B, 33,0350 SeCRTTH?
BENEIY 2)2FoT e3063° 3) ORET, 4)Beo, R,
5) 83,0350 B¢ &er? BRFANY S ?
1) Qp¥cpe 2) BEIBE 3) OTOT 1) BIDY
V. 953 Iwne’ Imeoddos FHEODR), FperReD. Yax8=4

(T, WP, esec, TV , M, (A e ol JE STV
ABwCIT,}
WO WBRT, o). o3 FRIS). 2,0 eDTedI),. TV BH,E)

20T Aeo, 28, ZRC0ON___ 29e273.0003 BT R0E) RBRLITHE),
DR TR, NS P33, SRS DSOHRY, DR

QVIEIO TYED . 20D B S, TDTT, ARIOTA VAN
MIDANED, eITIR, TR FOD, AT, YT, BTN MeHdA3)



2omel oS B, 1D 3. B0FEI, VS

T8 A3.

VL8 BYNS 233533, S T340 TN, Aad, 9AIFODR,
WBAND. 4X1=4

C

AN

e eyt AR e A8

— £51000. Y ou

VILBYR 308,008 duchne'd), wordad, 302 5- 6 DoFTNYD, 3T

833368 WBAMND. 4X1=4
1. Sy S8, €363 2. T, I8, B8,
BBNY 93500 &
d2on - B
VIiL.8s BN &38,19R 2,00 230%,;3€), 03 DA:- 1X4=4

1) BBy, SCE 03D e3RFO3TPONI.?

2) 3o 3300 JE7t SRLRTLS 3, I0Y. ?
3) eNT,Y BNFII, O30 SeLLTIT ?

4) FOT33, 035001 &0ITIY,?



IXERE 853 B3, nOR a8&Er-sh00) DTN, 03 DA:- 2X4=8

1) ZPBODA B, o3, Fow AT BONRIT HDIF0TI)?
2) 2DT,¥ DY N |, 20REBING) NI &) ?

3) B2, TNTROBR), HB? e3,5T3502 BONS 209 HT0E) BeLT3)

4) TRBRROG, AT I, dony IBer AR BRAT?
XFYNS 03,191 s3>00)- VOO, BTN 03 D). 3X2=6
1) 2302 aD3I), AeBre)I BNYI, ITDD.
< 2) 30N, 0D, RRATREFITY 03987 FOPIR SAONIAT NN

VOl AN RNOTIPE T, Ia30.

X1.%2&3 Ors3 I MY,  odesgmede 2wOTI

1 e
TOTFNY'S) ez D).

4X1=4
1) @503 &03 )3 ? 2DHTH DTFLLT ACBTI o 3a323Ia3e3?
ez
2) TEN,Y, NTBT, OB0eI) T, ? 3eé30 BIR A,
& BNRTEFOR Fo) HJI) eRTBITY?
XIl.&1 S3503:), o350 od5edR BCLWT) ? 3X2=6

1) "TRBRD). H3ee e3R8 L0339

2) &0 e MWD Now T IO I

************************************************

9



SINDHI HIGH S:”HOOL, BENGALURU.
HALF YEARLY XAMINATION. (2022 -23)

Subject: Viathematics

Class. 1V Max marks : 80
Date: 19 .9. 2022 Time: 8:00 to 10:45am
No. of printed sides: 5 ~ Reading Time: 8:00 to 8:15am

Writing time: 8:15 to 10:45am

General Instructions.

a) Write your name, roll number, cl: ss/section, date and subject
clearly in the answer script.

b) Write the page number on the rigi .t hand side top corner of each side
of the paper.

¢) All questions are compulsory.

d) This question paper contains two ections, Section-A and Section- B.

e) Section-A consists of 15 Multiple C hoice Questions and 5 fill in the
blanks of one mark each.

f) In Section-B question numbers 21 '0 26 carry two marks each.

g) In Scction- B question numbers 27 to 34 carry three marks each.

h) In Section-B question numbers 35 ‘0 40 carry four marks each.

SEC 'MTON - A
Choose the correct answer. (15X 1=15)

1) Which number is 1 less than 40007
a) 4001 b) 3999 ¢) 399 d) 4000

2) Which Roman Numeral represent : 20?
a) VVVV b) C ¢) XX d) L

3) What is the place value of 5 in 7,25,800?
a) 50 b) § 8) 50,000 d) 5000

4) What is the face value of 2 in 23,78?
a) 2 b) 200 - ¢) 20 d) 2000

i



5) What is the successor of the smaliest three digit number?

a) 1000 b) 99 ¢) 101 d) 100
6) What is 100 more than 900? .
a) 1000 b) 901 ¢) 1100 d) 800

7) How many lines of symmetry can be drawn in a square?
a) 4 b) 5§ c) 6 d) 2

8) How many thousands are there in a lakh?
a) 1000 b) 100 70 1,00,000  d)1

9) If the weight of one bangle is 12grams, what is the weight of
20 such bangles?
a) 360grams b) 240grams ¢) 24grams d)200grams

10) Which of the following numerals represent this number name

Four lakh forty four thousand fouy?
a) 4,44,400 b) 4,00,400 c) 4,00,440 d) 4,44,004

11) What is the digit in the ten thousands place in 8,79,203?
a) 9 b) 8 c)0 d)7

12) What is the standard form of 21,000 + 3000 + 0 +0 + 8?
a) 2308 b) 23,008 ¢) 23,800 d) 23,080

13) How many lines of symmetry dres the letter V have?
a) 3 b) 1 )0 e)2

14) Which of the following Hindu Arabic numeral represents
the Roman Numeral XXIX?
a) 30 b) 28 &3l d) 29

15) Which two numbers give a diffirence of 1000?
a) 6500,5600 b) 1500 , 1600 ) 5000, 10000 d) 4465, 3465

Fill in the blanks. (5X1=5)
16) 25X B R v = 35 X45X 75
17 5100 + == = 5100

18) The answer of multiplication operation is called ------------ .
19) 1 400 + 500 + 600 = 1500 , 500 - 600 + 400 = -------- ;

f"ﬁ\
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20) 7810, 7710, 7610, -------- y —e,

SECTION - B
Answer the following. 6 X 2=12)
21) Coding table

K L. M
10 111 112 |13

=
a
el
~

A B 8 D | E
1 2 3 4 - 6

0 |
bl ==
h=

N 1O ¥ Q IR |8 1 N W R N 18
14 115 |16 |17 |18 19 3) |21 {22 |23 |24 |25 |26

Observe the above table and decoc 2 this message given below.

(914 [4]9]1 '|l9|19|'l15l21|@ [3]15 [21]14]20]18]25]

22)  Simplify.
9629 + 1735 -- 2568

23) Arrange in ascending order.
610920 , 521910 , 15960 , 2700

24) Subtract 17,200 from 85,136

25)  Multiply using expanded form.
127X §

26) Arrange in columns and add.
41727 , 3728 , 79 , 818
(8X3=24)

27) A box contains 2465 red balls, 1378 blue balls and 1798
green balls. How many balls are there in all?

N



28) Draw the other half of these fig ures.

T L e T
VR

JSPN N —

E

29)  Sum of two numbers is 56,918. 1f one number is 28,358,
find the other number.

30) a) Draw the Indian place value chart and arrange the number

6,57,298 in that chart.
b) Write the number name of the abive number in Indian system.

31) Find the sum of 516720 , 161730 and 126956

32) The costofa pair of liberty sho:s is Rs.5825. What will be
the cost of 8 pairs of shoes?

33) Multiply using suitable groupin 2.
a) 5X63X20
b) 2 X 891 X 50

34) Ridhaan’s car costs Rs.9,69,000 and Adit”s car costs Rs.7,98,000.
Whose car is more costly and by how much?
(6X4=24)
35) A vaccination drive was arrangad for the public in a school
for three days. 1780 children wer: vaccinated on the first day,
1425 on the second day and 2126 ¢ a the third day. Find the total
number of children vaccinated on all three days.



36) Multiply.
a) 48X62 b} 71 X 1%

37) Using the digits 7,6,9,8,2 find

a) the smallest 5 digit number

b) the greatest 5 digit number

¢) the difference of the smallest and tiie greatest numbers

38) Complete the pattern.

39)A library has 75 racks of books. If each rack holds 56 books, find the
number of books in the library.

40) Subtract and check your answr.
a) 52,347 - 41,238
b) 70,000 - 66,500

)



SINDHI HIGH SCHOOL, BENGALURU
HALF YEARLY EXAMINATION (2022-23)
SUBJECT- Additional Hindi

CLASS: IV - MAX-MARKS: 80
DATE: 16.9.2022 . READING TIME: 8.00am to 8.15am
No. of Sides: 6 WRITING TIME: 8.15am to 10.45am
Instructions:

@ Write your Name, Roll number, Section in the answer script.
® Read all the Questions carefully.
e Answer all the Questions and write neatly.
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SINDHI HIGH SCHOOL, BANGALORE
HALF YEARLY EXAMINATION (2022-23)
Subject - Social Science

Marks: 80
Class: IV Timings: 2%2 hrs
Date:22/09/2022 Reading Time: '8:00 to 8:15 am
Number of printed sides: 5 ; Writing Time: 8:15 to 10:45 am

General Instructions:

e Write your Name, Roll number, Class/Section, Date and Subject clearly in the
answer script.

e Write the page number on the right-hand side top corner.of each side of the paper.
e Read all the questions carefully.
e All questions are compulsory.
e Answer all the questions with the correct Question number.
I. Choose and Write the correct word: - 1X10=10

1) The name India has been derived from the name of the river

a) Satlyj b) Indus c) Gomti d) Jhelum

2) Kahwa is a special type of i

a) Tea b) Coffee c) Juice d) Lassi

3) India is located in the southern part of the continent of

a) America b) Africa c) Asia d) Australia

4) __ is afamous hill station known for into its tea gardens

a) Darjeeling  b) Dalhousi c) Ranikhet d) Leh

5) has recorded the highest temperature are in the subcontinent at
53 degree Celsius

a) Islamabad b) Jacobabad c¢) Ahemadabad d) Muradabad

6) Uttar Pradesh is the 1argest producers of

A) Corn b) Sugarcane c) Jute d) Millets

7) Is a distinguished festival of Nagaland.

a) Hornbill festival b) Wangala festival c) Christmas ©  d) Garia



8) Jaipur is also known as the
a) Purple city b) Blue city c) Red City d) Pink City
9) Moving air is called

a) Cyclone b) Wind c) Storm d) Tornados

10) ____settled in Sindh known as Muhajirs.

a) Hindus b) Christians c) Muslim  d) Parsis
11. Name the following:

1. The highest mountain peak in the world. _____ 3

2. The southernmost tip of the mainland of India.

3. The dam built on the Satluj river.

4. Is a hill or ridge of sand piled up by the wind. _
5. The original dress of the Sindhi men.

111. Give two examples for each of the following:
1. Tributaries of River Ganga. ___,

2. Landforms of India.___, ____ﬂ
3. Main fruits grown in Himachal Pradesh. __,
4. Uses of solar energy. ____,

5. Crops grown in Tripura state. ___,

IV. Fill in the blanks:

1. India is commonly called as ________ or Hindustan.

& is the main occupation of Haryana.

3. Uttarakhand is often called as .

1X5=5

1X5=5

1X5=5

4.The of Sindh have adopted flowing pyjamas and high-topped caps

as their style of dress.

5. The only river that drains into the Thar desert.
V. Complc;ete the analogy:

1. Largest state: Rajasthan :: Smallest state :___
2. Mizoram : Aizwal :: ______ : Gangtok.

2 o

1X5=5



3. Bihar : :: Haryana : Haryanvi.
4.Renewable resource :water ::Non- renewable resource:
S5.Srinagar in the summer : Jammu in the

VI. Identify the pictures and name it:

VII. Complete the cloud :

Festivals «— Punjab Capital

vV

Folk Dance < Main Food

\
Tourist attraction

1X5=5

1X5=5



Rajasthan.

IX. Answer the following:
1. Define natural resources.
0. What is the meaning of Meghalaya?
3. Who are Banjaras?
4. Explaln Basin?
5. List one way to save fossil fuel.
6. Write two sentences about ghivalik Range.

7. How 18 Petroleum formed?

8. Differentiate petween Tributary and Distributary:-

9. What are sundarbans?

10. “Camel is called the Ship of the Desert”. Why?
11. Write a short note 011 Bhramaputra Basin.

12. India is a beautiful country- Explain?

. 13. erte any three uses of Himalayas.

14. Descnbe coal. Write any two uses of it.



15. a) Identify the image. 1+2 =3
b) What is it used for?

X. On the political map of India, locate the follo;ving places. 1X5=5
a) The State you live in.

b) Arunachal Pradesh.

¢) One neighbouring country of India.

d) The seas that lies in west coast and east coast of India.

5
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SINDHI HIGH SCHO( )L, BANGALORE
HALF YEARLY EXAMINATION- (2022-2023)

Subject Science

Class: IV Max Marks : 80
Date: 21-9-22 ‘ Timings: 8:00-10:45am
No of sides: 4 Reading :I‘ime: 8:00-8:15am

Writing Time: 8:15-10:45am

SECT ON A
* 1. Choose the correct option Y2 X10=5
hiy The food prepared by the pre cess of photosynthesis is
a) Glucose ¢)Ch orophyll
b) Stomata d)Carbon-di-oxide
i) Which part of the leaf helps in exchange of gases?
a) Stomata ¢) mid rib
b) Side veins d) None of these
iit)  Which one of the following s an example of a non-green plant?
a) Pitcher plant ¢)C oconut
b) Coral plant d)Duckweed
iv)  Identify the plant that protec:s itself by thorns.
a) Lotus ¢ Poison ivy
b) Fir d Rose
V) What happens when we dor )t replace the trees that have been cut down?
a) Soil erosion increases :)Soil is conserved
b) Soil erosion decreases d) Soil fertility is increased
vi)  Select one out of the followi, & which is the best soil for growing plants?
a) Sandy ¢, Loamy

b) Clayey d .Gravel



3. Name the following

vii) Which of the following teetl_"{'i\_ is sharp and pointed?

a) Pre molar i) Incisors
b) Crown l;Itl;‘l.)Cayn'me

viii) What is the normal age whe'lﬂﬁ a child gets a set of 20 milk teeth?
a) lyear : iic) 3 years
b) 2 years d)o months

ix) Cactus leaves are modified it~

a) Elongated leaf \é;) broad leaf

b) Red leaf ‘é‘l)Spine

X) Breathing roots are found in plants of

a) Mountain region ¢) Marshes or swamps

b) Deserts a) Underwater plants

_ Give two examples of each 1 X5=5

a. Fixed aquatic plants.

b. Food preservation technique.

. Things made up of clayey soil.
d. Calcium rich food.
e. Sources of proteins.

1X3=3
a. Food items which protect us from diseases and keep us healthy.

b. The digestive juice in the mouth.
c. The remains of dead animals ani plants in soil.

4. What happens when 1X4=4
a. There is no intake of roughae.
b. lodine solution is added to starch.
¢. Underwater plants are grown in aquarium.
d. We build dams. :
5, Analogy ¢ 1, X 6=3
a. Mango tree: Plain region:: __ . Marshy region.
b. DECY. Herbivore:: s Carnivore.
c. Cutting of trees: .- Plenting trees - Afforestation
. Incisors: 8: Premolar : : :

d
e. Malaria: Protozoa = Typhoid .\ ———
f :ghee::Proteins:Pulses 3,‘




. SECTIONB

““Answer the following | 3X10=30
6. a. Identify .

1.

b. Write any one adaptation of (1) and (ii)
7. a. What are nutrients?
b. Write any four methods of cooking fbod.

8. Write three adaptations of plants that ar- grown in mountain region.
9. Label the parts of human digestive systzm.

10. a. What is soil erosion?
b . Write the causes of soil erosion.

I'1. List any three properties of sandy soil.

12. How do plants use their food? . ‘

13. What is food chain? Give an example. |

i
t4. Draw a neat labeled diagram of structure of'x tooth.



15. a. What are microbes?

b. List any two way

s by which microbes are useful to us.

SECTICIN C

Answer the following ; 5X6=30
16.a. What is digestion? ;

b. Why do we need food? A

c. Water is important for us. J usify.

17. a. How does tooth decay happens?

b. Write any two ways to prevent tooth decay.

18. a. Identify the picture given belaw.

b. What is the advantage of the i:‘!')ractice shown in the picture?

c. What is crop rotation? Give its importance.

19. a. What are insectivorous plant:? Give one example.

b. List any three uses of plant fox‘hd in grass family.

and animals? Explain

20. a. What is interdependence of plants
rease on earth? »

b. What will happen if the number of plants dec

c. Croton leaves appear dark red :n colour. Give reason?

1. a. Draw a neat labeled diagram of leaf.
b. Why is leaf called the food factory of plant?

*******m***********



SINDHI HIC H SCHOOL,BENGALURU
HALF YEARLY EXAM 2022-23

Class: 1V Subject: Computer Science

Marks:30 Reading Time :8:00 — 8:10 am
Writing Time : 8:10 — 9:00 am

No of Printed Sides:3 Date:15/9/22

I. Fill in the blanks: [1 x 5=5M]

a) The drive is small, to use 1 storage device that can be carried
around in your pocket.

b) The is a non- volatile mc mory.

C)A is a location for organizing and storing files.

d) The background image of the desktoy: is called

e) Click the key to exit the slideshow.

II. Name the icons: ‘ [1 x 5=5M]
a) g d)
°)Abc
ITI. Name the shortcut keys [2M]
a)Select all items in a folder.
b)Copy a file.
c)Paste a file.
d)Create a new folder
IV. Answer the following: [9M]
1. Write any two units used to represent Computer memory. [1IM]
2. What are the four options that appear ~hen you resize a tile? [2M]
3. What is a slideshow in tuxpaint? [2M]
4. Mention any two characteristics of R.\M. [1M]
5. What do you understand by libraries? Name all the libraries present in
Windows. [2M]
6.How will you start the slideshow? [IM]




V. Application based questions

[7M]

1. From the picture given alongside wrizz which buttons are used for the

following .

[2M]

a. To get the mirror image of the stamp
b. To the size of the stamp ;

&>

g

c. To flip the image vertically.
d. To move through various category of stamps.

e

!

7 Dev wants to disable the sound effects in Tux Paint.Which key should he

press? Y e

|

3 Which storage device would you chogse to store the following?
a) To store 200 MB data for a class project

[1M]

[1M]

b) To store 500 GB of backup data containing various student project

4.In the figure given below identify the labelled parts:

_____”____.__—————————7
% X

Local Disk (E2)

[2M]

-l = | Manage
Home Share View picture Toals 2% o
)\’ ; %] [‘j o cut o Moveto s X Delete - Ty M open - H setectat
27 Copy path - [ Edit 33 Select none
Pm::(gl:uk Copy Paite E] paste shorteut Bcopyto~ t!IlRenume y::d'z, * Prap:rties £) History ﬁgmvevtselemun
Clipboard Organize New Open Select
« « 4 ue > This PC > Local Disk (E) ; v O O Search Local Disk ...
A Name ’ < Date p‘nodvﬁed Type Size
# Quick access i
 Oeskiop & class 17-68- 2022 13:02 File folder
class 9 17-0¢- 2022 13:00 File folder
& Doneionds: yoga 27.0120021348  FilETEEE —>
B Documents # @ ouiscxisx 16.03:202 1104 Microsoft Excel W.. oxe A
& Pictures £ ) Badminton.doc 14042022 09:20 Micrasoft Word O... 14KB
Art work C1.6.pdf 14- 152020 12:29 Adobe Acrobat 0. 108 KB
Ash (&) class 6.pdf et 2920546 Potre ATt B et > d
/m,‘/ [®) Screershot .png 39-1.202211:02  PNG File 713K8
« Usha
@ OneDrive
W This PC
“J) 30 Objects
W Oesktop
[ 12, 0, VRPN v
giterns 1 item selected 712K8 @

5. Arrange the following in descending order. TB,KB,MB,GB

[IM]

~
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